I.Nume.(.lCo\\ Examele
- See examples on site

N\

-1\
pel

ik ,}45

N 2= Y numbers
-«o\,"*’?‘

”\t
l . Sexting UP t+he PfoHem “ '\‘2«@‘/-4%'\@:
A.Differertial  Equation conenopEs (2,0 - adding £ makes i+ more  genecal
() “Ligd of numbers”

(=202 y=203:4)

Lolumn Vet £y Muo Sests age  posime, Secand twe ate  Velocities

(seretal Form: ==L
5 dot = Dao-t',udo-}] cates of change OF rhe Y pombers

2,659 (1y !
I?MS"S 4o 3 Which Pposses o hoj

24ok

3. Bulecs  methed

boss i the name OF Yhe differential eauations  time, (NN 2 paasmeters

passed 10 €om (1) @ Caron ODE

N= length (tasiey); m= Rergth(zo)j

Zasmy= 2es (nmd)

2oty (1,2 V= 20;



